

## Viswambhara Educational Society

### **VAAGDEVI DEGREE & P.G. COLLEGE**



(Approved by A.I.C.T.E., New Delhi, Affiliated to Kakatiya University & TSCHE)

Kishanpura, Hanumakonda, T.S. -506001

## **Library & Information Centre**

# **Book Bills for the Academic Year 2023-2024**

SI. No.	Bill No.	Bill Date	No. of Titles	No. of Volumes	Amount
1	36	30.06.2023	08	46	46,432.00
2	37	30.06.203	08	31	33,422.00
3	84	17.10.2023	12	23	11,380.00
4	IN-3815	16.12.2023	01	02	3,424.00
5	IN-3906	20.12.2023	01	02	3,424.00
		Total	30	104	98,082.00



Dr A. Sheshachalam

PRINCIPAL

Principal

Vaagdevi Degree & P.G. Collega

Kishanpura, Hanamkonda

INVOICE NO.....

# **SUNIL BOOK SERVICE**

H.O.: 16 / 873, Joshi Lane, Karol Bagh, New Delhi-5 Branch Office: Opp: Andra Bank, Fatima Nagar,

Kazipet.(T.S.) Pin-506004

Phone: 0870-2459617, Cell: 09390115435

ORDER NO.....

PRINCIPAL

**VAAGDEVI DEGREE & PG COLLEGE** 

HANAMKONDA

30.06.2023

Date:

Qty. PARTICULARS		PARTICILIARS	RATE	AMOUNT		
		PARTICOLARS	NATE	Rs.	Ps	
3	ZIKUMUND	BUSINESS RESEARCH METHODS	899.00	2697.00		
2	SCHINDLER	BUSINESS RESEARCH METHODS	1050.00	2100.00	1	
10	EVANS	BUSINESS ANALYTICS	900.00	9000.00		
5	BHALLA	INTERNATIONAL FINANCIAL MANAGEMENT	1050.00	5250.00		
2	WINSTON	MICROSOFT EXCEL 2019 DATA ANALYSIS AND BUSINESS MODELING	995.00	1990.00		
1	MEMORIA	DYNAMICS OF INDUSTRIAL RELATIONS	698.00	698.00		
1	SHARMA	STATISTICS FOR MANAGEMENT	650.00	650.00		
1	SARMA	INDUSTRIAL RELATIONS	825.00	825.00		
3	SAIYED	LABOUT LAW	898.00	2694.00		
1	SUBHA RAO	INDUSTRAL RELATIONS .	198.00	198.00		
2	BERMAN	* RETAIL MANAGEMENT	1000.00	<b>2</b> 000.00		
3	SEKARAN	BUSINESS RESEARCH METHODS	800.00	2400.00		
5	CHANDRA	STRATEGIC FINANCIAL MANAGEMENT	1190.00	5950.00		
3	SINGANIA	DIRECT TAXES -LAW AND PRACTICE 2023-24	2250.00	6750.00	- Process	
2	V.S.P.RAO	MANAGEMENT	695.00	1390.00		
2	ACHARYA	DATA ANALYTICS USING R	920.00	1840.00		
		TOTAL	andrew .	46432.00		
		LESS 20 % DISCOUNT	Waler	9286.00		
		NET AMOUNT	to to	37146.00	and the Cou	
16			18 (2) E			
			V S			
			AGARA			
	PRINTED BOO	KS ARE EXEMPTED				
	The Control of the Co	SN CODE 4901			The same	

E. & O. E.

Certified that Prices has been charged according to Publisher's Latest Catalogue & Converstion Rates Charged as per G.O.C. A/c. No. 13240200006584 Bank of Baroda, IFSC Code: BARBOKADIPI

For: SUNIL BOOK SERVICE

Manager / Prop



Dr A. Sheshachalam

Principat Principat

Vaagdevi Degree & P.G. Colles, a Kishanpura, Hanamkonda

SUNIL BOOK SERVICE

H.O.: 16 / 873, Joshi Lane, Karol Bagh, New Delhi-5 Branch Office: Opp: Andra Bank, Fatima Nagar,

Kazipet.(T.S.) Pin-506004

INVOICE NO.....

Phone: 0870-2459617, Cell: 09390115435

ORDER NO

TO PRINCIPAL

VAAGDEVI DEGREE & PG COLLEGE

HANAMKONDA

30.06.2023

Qty.	PARTICULARS	RATE	AMOU	
		HATE	Rs.	Ps
10 MITCHELL 3 LUTZ 9 SATYANARAY 5 ARORA 1 SHWARTZ 1 PRADHAN 1 VAMSHI KURA 1 HAMEED	DATA SCIENCE AND ANALYTICS WITH PYTHON UNDERSTANDING MACHINE LEARNING MACHINE LEARNING WITH PYTHON	1595.00 1800.00 600.00 750.00 1195.00 649.00 599.00 479.00	15950.00 5400.00 5400.00 3750.00 1195.00 649.00 599.00 479.00	
31	TOTAL LESS 20 % DISCOUNT NET AMOUNT		33422.00 6684.00 26738.00	
PRINTED BO	OKS ARE EXEMPTED	AR 4 90		

E. & O. E.

Certified that Prices has been charged according to Publisher's Latest Catalogue & Converstion Rates Charged as per G.O.C. A/c. No. 13240200006584 Bank of Baroda, IFSC Code: BARB0KADIPI

For: SUNIL BOOK SERVICE

anager / Prop

TANAMKONON.

Dr A. Sheshachalam

Principat Principat

Vaagdevi Degree & P.G. Collega Kishanpura, Hanamkonda INVOICE NO.....

#### **SUNIL BOOK SERVICE**

H.O.: 16 / 873, Joshi Lane, Karol Bagh, New Delhi-5 Branch Office: Opp: Andra Bank, Fatima Nagar,

Kazipet.(T.S.) Pin-506004

Phone: 0870-2459617, Cell: 09390115435

ORDER NO Dairy Science

PRINCIPAL

VAAGDEVI DEGREE AND PG COLLEGE

HANAMKONDA

17.10.2023

....

Qty.		PARTICULARS	RATE	AMOU Rs.	JNT Ps
1	ICAR	HANDBOOK OF ANIMAL HUSBANDRY	2000.00	2000.00	T
2	VERMA	A TEXTBOOK OF LIVESTOCK PRODUCTION MANAGEMENT IN TROPICS	450.00	900.00	
2	PRASAD	PRINCIPLES AND PRACTICES OF ANIMAL NUTRITION	425.00	850.00	
2	SURESH MEHTA	FUNDAMENTALS OF VETERINARY EMBRYOLOGY	160.00	320.00	
2	PRASAD	DAIRY CHEMISTRY AND ANIMAL NUTRITION	225.00	450.00	
2	TOMAR	TEXTBOOK OF ANIMAL BREEDING	295.00	590.00	
2	SASTRY	LIVESTOCK PRODUCTION MANAGEMENT	850.00	1700.00	
2	SINGH	DAIRY TECHNOLOGY	295.00	590.00	
2	JAGDISH SINGH	ANIMAL HUSBANDRY AND DAIRY SCIENCE	495.00	990.00	
2	PRASAD	PRINCIPLES OF PRACTICES OF DAIRY FARM MANAGEMENT	450.00	900.00	
2	BANDHOPADYAY	TEXTBOOK ON ANALYSIS OF MILK PRODUCTS	150.00	300.00	
2	BANERJEE	A TEXTBOOK OF ANIMAL HUSBENDRY	895.00	1790.00	1
		TOTAL		11380.00	
	figure 1	LESS 20 % DISCOUNT		2276.00	1300
23		NET AMOUNT.	IGARI	9104.00	
		TO WEATH			
	Recewe	8			1
	,	Roug			13
	PRINTED BOOKS AF				

FROF

Certified that Prices has been charged according to Publisher's Latest Catalogue & Converstion Rates Charged as per G.O.C. A/c. No. 13240200006584 Bank of Baroda, IFSC Code; BARBOKADIPI

about

For : SUNIL BOOK SERVICE

Manager / Prop.

: Onl



Dr A. Sheshachalam

Principat Principat

Vaagdevi Degree & P.G. Colles, a Kishanpura, Hanamkonda



# Tax Invoice/Bill of Supply/Cash Memo

(Original for Recipient)

Sold By: **DELHI BOOK STORE** 19, ANSARI ROAD, DARYA GANJ, NEAR FIRE STATION NEW DELHI, DELHI, 110002 IN

PAN No: AAEPA6918M

GST Registration No: NotApplicable

Billing Address:

V S MALLIKARJUN 11-25-442, Kothawada, Warangal

WARANGAL, TELANGANA, 506002 IN

State/UT Code: 36

Shipping Address: V S MALLIKARJUN V.S.MALLIKARJUN

LIBRARY, VAAGDEVI DEGREE AND PG COLLEGE, KISHAN PURA, RAMNAGAR HANAMKONDA, TELANGANA, 506002

State/UT Code: 36

Place of supply: TELANGANA Place of delivery: TELANGANA

Invoice Number: IN-3815

Invoice Details: DL-133724731-2324

Invoice Date: 16.12.2023

Order Number: 402-0246640-6021138 Order Date: 16.12.2023

SI.	Description	Unit Price		Qty	Amount	Rate		Amount	Amount
No	Contemporary Statistics, a Computer Approach: For	₹1,747.00	-₹34.94	2	₹3,424.12	0%	IGST	₹0.00	₹3,424.12
1	IBM 3.5"   0071133216 ( 9780071133210_DBS )		Case N. S. No.	1		0%	IGST	₹0.00	
						0%	None	₹0.00	
	TAL.						1 2 2 2	₹0.00	₹3,424.17

Amount in Words:

Three Thousand Four Hundred Twenty-four Point One Two only

For DELHI BOOK STORE:

**Authorized Signatory** 

Whether tax is payable under reverse charge - No

on Seller Services Pvt. Ltd., ARIPL-Amazon Retall India Pvt. Ltd. (only where Amazon Retail India Pvt. Ltd. fulfillment center is co-located)



Dr A. Sheshachalam

PRINCIPAL Principat

Vaagdevi Degree & P.G. Colles, or Kishanpura, Hanamkonda



#### Tax Invoice/Bill of Supply/Cash Memo (Original for Recipient)

Sold By : **DELHI BOOK STORE** 19, ANSARI ROAD, DARYA GANJ, NEAR FIRE STATION NEW DELHI, DELHI, 110002 IN

Billing Address: V S MALLIKARJUN 11-25-442, Kothawada, Warangal

WARANGAL, TELANGANA, 506002

State/UT Code: 36

PAN No: AAEPA6918M

GST Registration No: NotApplicable

**Shipping Address:** V S MALLIKARJUN V.S.MALLIKARJUN LIBRARY, VAAGDEVI DEGREE AND PG COLLEGE, KISHAN PURA, RAMNAGAR HANAMKONDA, TELANGANA, 506002 IN

State/UT Code: 36

Place of supply: TELANGANA Place of delivery: TELANGANA

Invoice Number: IN-3906

Invoice Details: DL-133724731-2324

Invoice Date: 20.12.2023

Order Number: 408-3179505-0356345

Order Date: 20.12.2023

SI. No	Description	Unit Price	Discount	Qty	Net	Tax Rate	Tax Type	Tax Amount	Total Amount
1	Contemporary Statistics, a Computer Approach: For IBM 3.5"   0071133216 ( 9780071133210_DBS )	₹1,747.00		1					
						0%	IGST	₹0.00	
	The second of th					0%	None	₹0.00	
TO	TAL:							30.00	73 424 37

Amount in Words:

Three Thousand Four Hundred Twenty-four Point One Two only

For DELHI BOOK STORE:

**Authorized Signatory** 

Whether tax is payable under reverse charge - No

ACC. NO. 32960 - 32961

ASSPL-Amazon Seller Services Pvt. Ltd., ARIPL-Amazon Retail India Pvt. Ltd. (only where Amazon Retail India Pvt. Ltd. Guttin Customers desirous of availing input GST credit are requested to create a Business account and purchase on Amazon.in/business from Business eligible offers

Please note that this invoice is not a demand for payment

Page 1 of 1



Dr A. Sheshachalam PRINCIPAL Principat

Vaagdevi Degree & P.G. Collety of Kishanpura, Hanamkonda